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5) If -_ ( 2x,2y ) Ig -_ 22,37

( 2x ,2y > = X. ( 2,37

2X=2X 2y=3X 2×+34=6
x=X y=ZX 2*124=6
x
-

- II y -=Fz 43*6
flint)=¥ *I

Min : IT Max : none

13

7) Ff=Ly,x ) Fg=C8x,18y )
( y,x7X=C8X , 1897



y ,l=8x XX=18y 4×2+95=32
1×491=12,413) , I -2,413) , (

2
, -4131,1-2 , -413)

f- 12,4131=13 ffz , 4131=-83 f- (4-43)=-83
fl -2,-4131=83 Mine - Iz Max-_ E3
9) If-_ ( 2x,2y ) Fg=C4x34g3 )
( 2x,2y ) - X = ( 4×3 , Hy 's >

2×4=4×3 2yX=4y3 X4ty4=1
using maple : flat)=1 fc2.tk, 2-

"
4) =D

Min -1 thnx =D

77/171=53,447 Ig -12944,122)

( 312,43 - X = ( 2x,4y
,
1227

3X=2X 2X=4y 44=122×7294622--1
f⇐ I, Ezra)=¥



ft # in , - tan ,
- Erna)= -Ey

13) Ff -- LY , X , 2) Ig =L 2X, 29,227

( y ,x , 27.4=42×29,227

Xy=2x Xx --2y 24=22×49422--36

f- ( 44,27=20 f( 4 , -4 .
- 2) = -20

Matzo min -_
- 20

15/17=59+2 , x. X ) 79=52×29,227
( ytz , X , X) - X= (2x , 24,227

Xlytz)=2xXx=2y Xx -- 22×45422=4

HR , 1,17=255 ff -R, 1,1k - 2B

MAXI 257 min -_ - 252


